oleiA Z2ix| HISE WXl 2 % 27 CIZ2E Z3t
=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

AHQlE|A AT HH

33 B Zs, oot ¥ A

e

QlEix BEKIE 5H HOR OISl 53 9IRI7H Mats S WxlsHor
ste Eofl A EILICH HISE WX| Hxls 220 #E 2E0] 9%
7h K| T2 BHLICH BET BAEO| S o2 }502 B
Lick LIALE 20| EAIE £E7HX| 2H 12IS 605 ZAHE 3/%0|

AL

S5 A A,
UNIM2]:

AT O|M B K0665.
ofe Hx o oI5t 1X M|E K2146.

www.kipp.com - info@kipp.com 1/2



[ ]
=dLAE > (=] Ol=— AEISS A A
ZoAE HAE O8I 7IRE HET Q= 28 E2 AH|Qlg A
ol A = EgalH Xkx| ol 2 =il IiLo
|_|—|— EE‘I_.lx-II I:|IE|=| Jxl Jxl > _le_ EIE—lE'I i%!'
=N
D2
[} l
I I
Y i SWi !
SEmaEg | I
~ "'A SW2
- of P -
Y |
Y ‘_f T P am|
| _ | D1 1 !
. -
o D
E= 2%
FRHS EF = /A D D1 D2 L L1213 AE&Z3 SW1 SW2  AX B
S s =
F1 2 N F2 2f. N
K1300.22061 B AEl 6 M12x1,5 25 49,7 20 8 17 4 14 19 8 14
K1300.22060 B AE] 6 M12 25 49,7 20 8 17 4 14 19 8 14
K1300.23081 B AEl 8 M16x1,5 33 66 26 10 23 6 19 24 20 35
K1300.23080 B AE] 8 M16 33 66 26 10 23 6 19 24 20 35
K1300.022061 B AEQIYA AR 6 M12x1,5 25 49,7 20 8 17 4 14 19 8 14
K1300.022060 B AHQIYA AR 6 M12 25 49,7 20 8 17 4 14 19 8 14
K1300.023081 B AE|QIEA AE 8 M16x1,5 33 66 26 10 23 6 19 24 20 35
K1300.023080 B AHQIYA AR 8 M16 33 66 26 10 23 6 19 24 20 35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



